Hypothesis ‘ Statistic ‘ Dist. ‘ Decision Rule: Reject Hy if Note

Population standard de-
T — o T — po c_ T — lo S vitation o is know, and
o/\/n o o/\n ~ F1=(a/2) OF N “1=(a/2) population is normally
" distributed or n is large.
0:H = Ho Population standard de-
Hi:p # po vitation o is unknow.
T — g . T — o <4 T — 1o - Population is normally
s/\/n | o bis(er?) or s/yn — "ohim(@/2) | distributed or n is large
(greater then or equal to
30).
Population standard de-
B 3 vitation o is know. Pop-
T~ Ho P T~ Ho > 214 ulation is normally dis-
o/Vn o/vn tributed or n is large
Ho:pe < o (n = 30).
Hi:p > po Population standard de-
N B vitation o is unknow.
T~ Ho tn1 T~ Ho >th1-a Population is normally
s/v/n s/vn distributed or n is large
(n > 30).
Population standard de-
B 3 vitation o is know. Pop-
T~ Ho P T~ Ho < 21w ulation is normally dis-
o/Vn a/vn tributed or n is large
Ho:pp = po (n = 30).
Hi:p < po Population standard de-
_ _ vitation o is unknow.
R th—1 T < —tp—11-0a Population is normally
s/v/n s/v/n distributed or n is large
(n > 30).
’ Hypothesis ‘ Statistic ‘ Dist. ‘ Decision Rule: Reject Hy if ‘ Note ‘
Hy:p = po D — Do ; D — po < —21_(aya) oF D —po > 1) np and n(1 —p) must
=~ —( = —(
Hip #po_| \/po(l—po)/n po(1—po)/n po(L—po)/n be large (= 5).
Ho:p < po D — Po ; D — po > 4 np and n(1 —p) must
- —Q
Hizp>po | \/po(1—po)/n VPo(l —po)/n be large (= 5).
Ho:p > po D — Do ; P —po <—2 np and n(1 —p) must
— —
Hi:p <po | \/po(1 —po)/n po(1—po)/n be large (= 5).
’ Hypothesis ‘ Statistic ‘ Dist. ‘ Decision Rule: Reject Hy if Note
Hy:0% = o} (n—1)s? ) (n—1)s? .2 (n—1)s? L2 Population must be normally
Hy:0% # o} o3 Xn—1 o5 = Xn—t,a/2 O o2 = Xn-1,1-(a/2) | distributed.
Hy:o0? < o} (n—1)s? ) (n—1)s? 9 Population must be normally
Hy:0% > o} o3 Xn—1 o2 = Xn—1,1-a distributed.
Hy:0? > o (n —1)s? ) (n—1)s? o2 Population must be normally
Hi:0? < o2 o2 Xn—1 ol = Xn-la distributed.
Population must be nor-
Hy:0? = ko3 153 1s? 1s? mally  distributed. Note
H1:0'% 75 k‘a% Eg mel,nzfl %g < Fnl—l,anl,a/Q or Eg > F’n1717’n271,17(04/2) that Fnl—l,ng—l,a/Q —
1/Fn2—1,n1—171—(0¢/2)‘
Hy:03 < ko3 12 12 Population must be normally
7.9 Fnl—l,ng—l 7.9 = Fnl—l,ng—l,l—a d b d
Hy:0% > koo k s5 k s3 Istributed.
Hy:0% > ko 12 12 Population must be normally
H,:02 2 72 Fri—1na—1 72 S Fa-tne-1a distributed.
1:07 < koj k s3 k s5
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